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» withi{linalg):

Warning, the protected names norm and trace have baen redefined and unprotected

:rA:mmatrix{%éfEG‘D,lx(},G,G,G,l,wZ,Z,—3,1,2,*2,1,~3}};
Fog o 1 ol

¢ & 0 i

f.200 20 -3
{ 2 2 -y
> gigenvecis{Al;
[0 0L L0082 30 (1L 0,-2 616, £ 8, -2]1
the lambda = -2 sigenvalue is defective!l
s Iden:=arrayi{l..4,1..4,1identitcy}:
Fder = arvayGidentitv, 1 L4140 D
> evalm{Iden);
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» Brmevalm(A+2+Iden); #the matrix A-~lambda*i
2 00 ¢ 0
o0 2 o
Bo=
-2 2
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» kernel {B™3}; #this is the gensralized lambdas=-2

#eigenspace. It is indesd 3-dimensional
f11,0,-2 0000, 1, -2,63, (8,0, -1, 1]
» karnel (B 2); #T will need a chain of length 2,
4there won't be a chain of length 3 zince
#rhe actual szigenspace is 2-4
L0200, 1,-20L10,0,-1 1]}

» ul:=({0, €, -1, 11}; #Ffor this chain don’'t start
#with an actual eigenvecter. I like this
fvector because of its physical meaning in
#the train problem!

ad = {00, -1, L

» ul:=evalm(B&rudl:
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wl =L L -

evalmi{Ba*ull - #Hzhould be zero
100,40, 61
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